mathrm a'N

dp

mathrm d lambda
= N
0 o
o o

160

m
H
N
o

mathr
N
o

I—‘pTI—‘
H (@))] 00] o
o o o o

N
o

mathrm d N / mathrm d

p)

N

Ratio to CMS
[N

0.5

18000 GeV pp Z+Jet

g T N L A
— Groomed widthA_1' (CMS jet substructure) —
—  m CMS —
~ o Pythia 6.428 390 a
- a-- Pythia 6.428 391 —
~ - - Pythia 6.428 392 -
—— --~+-- Pythia 6.428 396 ]
- --%-- Pythia 6.428 397 .
— ---¥-- Pythia 6.428 398 -
3 E
e -
C4 .
L ]
- -
| .
i -
- =
~ .
I o
~ -
- Q‘%‘ ]
‘_;wk!?ﬂ—-»ﬂ | | | | | H
- | ! ! ' ' =
l . L . : l ! l

0 0.5 1

groomed width

Rivet 3.1.10, = 2.8M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


